


Example 3 State what nmmber side ol the ineequality 1= slve
142) = vaviy ol ol pieit Prosm rach
. e | nma<ier B AT=k+
Sobve each inequality, Craph and check your solution.
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Example 4 9. Vacation Budget Your brother has $2000 saved for a vacation. His sirplase

m=-S<l+p

(page 143) ticket in 3637, Wrise and solve an inequality to find how much he can spend for
'.'-'I'h‘rhm
40. Weekly Budget You have am allowance of $15 00 per weck. ima
bormtimg leagisr thai cosis 3640 cach week, and yom s 5 i gach
ﬁwth-dﬂuum“mm-thmmhﬂ to mpend
weelk.

4. Fumd-Raising A schoud clubs i selling reflectons for Bicych Safety Day. Bach
member i encosraged to sell ai least S0 refiectors. You sell 17 oa Mondsy and
12 o Tiscsday. How muny reflecton do vou nocd 16 sl on Wednesday 1o mect
your goal®

) Asoly Yeur Skills State what veu must do to the fr incgualiiy In order o ot the second.
LS -4+ pd0sy AI+b>Ub>15 Mm-b<gm<]

Solve rach inequaliny.
Bw-3+1=9 aal+e=3l .5y -03<28
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h- =  m-T1=r-1 029+ ew
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6394 = - 35 CUEYEE 53> 16+m-"23
6 7]+ m+}= -2} 614 +s+ 211

P 5+ A7 = rdocsr = 45 + 4T7

+ 47 < risr < 45 + 477

s the differences hetween those twe ¢ xamples.

' pose your sister wants o qualify for a regional gyminastscs
ition. Al today's shee st sore at least 3.0 posnts. She
_“ﬁrﬂ,ijﬂlhhﬂuh-.-duummm|
that remains is ihe Moor exercre.

and solve an incquality that models the information.

the solution means in terms of the oniginal situation







